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Diagram not drawn to scale

Find the size of each of thec angles marked 4, b, ¢ and d.

Page 3

4. (a} Calculate the size of cach of the angles marked x, y and = in the diagram below.

Diagram not drawn 1o scale

&)

Page 4



g afieg g ebeyg

IS 0] UNDAP 10U WIDIEDIT

wv/ [l
[ 3 R I R I R T

o

d

4.5 B

AR e . T o T =Tl AR .
: 09| =OSEhgFOI~hgieet hi

"sa[fue 22111 Y3 JO YOro JO 2ZIS Y} puL]

'$93183p UI PAINSVIW AT SI[BUR 9Y) JO [V

09 =9 095 5"

2|25 01 UMDY 10U LuDIBDI
“ payIew ajSue a1y Jo 221S 3y 2JEMIJED

(IS O] UMD Jou _twﬁwﬁwq

A

‘uoFexay 1e[ndaz v smoys wesdeipoyy (p) 7 (q)



5.

(a)

The angles of a quadrilateral are x°, 49°, 3x° and 111°.
Form an equation in x, and use your equation to find the value of x.

[4]
(b}  Find the size of each of the angles marked x and y in the following diagram.
Diagram not drawn to scale.
=G0 -85’
]

Page 7

A ~
In the diagram below, ABCD and DCEF are parallelograms with BCE = 135° and ABC = 80°.

Find the size of the angle marked x,

A B

add ko MSN Y

0

100

Diagram not drawn to scale.

Page 8
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Fal
3. (a) Thediagram shows a triangle DEF with EF = 12cm, DXF=90° and DX = 5cm.

D

L
|2 Cpan

Diagram not drawn to scale

Find the area of the triangle DEF. State appropriate units for your answer.

(b} 10cm

76\_; .\\wJAB 4cm
Nooc :

Diagram not drawn to scale

Calculate the area of the parallelogram.

Peo= MOPMQDWA @Zﬁ

{3

=bhocm?z

Page 11

7. The following diagram shows a paved area with a circular pond of radius 10m.

40m

50m

& .WO.D\/ -

10m /w 10m

S5m 5m

Using the value of mas 3-14, calculate the area of the paved surface clearly indicating the units of
YOUT answer.

 Roctnagle. — Sox 4 = 2000m*
Roctody - BOX0 = 300omkt
Cuvels Pad) — JTKIO*~

— 24X DO
= 24 mt

S
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(b) 5. (a) The paints P and Q on the grid represent two towns.

Lighthouse

\_%0° P,

Ship Yacht

Diagram not drawn to scale.

Write down the bearing of: :

(i) the yacht from the lighthouse. - . ; -

12.0°

(ii)  the «hip from the lighthouse. (i) Find the bearing of P from Q.

B 2y 330°

i (ii)  Another town, R, is on a bearing 270° from @ and 180° from P. Mark R on the grid.
2 [3]

Page 15 Page 16
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(d) 11.
..).w

J\MﬁQ ‘ A.n. h..\r /
Y Seor! ~Lreclo Q
55°

Diagram not drawn to scale

Find the size of the angle marked x.

= 180 —40 e s>
-~ _6a " .

Diagran not drawn 1o scule

The above diagram shows three points X, K and Y which lie on a straight linc.
The bearing of ¥ from K is 055°. Find the bearing of X from K.

.55+ 160° = 235°

Page 17
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(a) Calculate the circumference of a circle with a radius of 5em, using 3-14 as the value of 7.

A=

(b)

Diagram not drawn to scale.

Calculate the area of the circle shown in the diagram above, using 3-14 as the value of 7.

‘PH T2

= 3o

= 24 XIo0

— ik (e *

Page 23

4,

(a)

Complete the [ollowing conversion table

5/

£

Conversion
Miles Kilometres
15 th_r .
TS 120
100 160

{b)

. 20km=  20x75 = IQs

Kevin’s car manual states that the fuel consumption for his car is 20 km per litre.
Kevin's car gives distance travelled in miles.
What is the fuel consumption of Kevin's car in miles per litre?

Page 24
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11. Find and shade the region of points inside the trapezium ABCD that satisfy both of the following 7. Shade the region that satisfies both of the following conditions.
conditions.
(i) The points are less than 4-5cm from A,

(i) The points are nearer to AD than to DC, (ii) The points are nearer to B than to A.
[3]
(ii)  The points are further than 3 cm from the line AB.
(3]
A . / 5
A
5. (b) Find and shade the region of p ; BC that satisfy both the following
/ conditions.
(i) The points are nearer ta8
B € (i) The points are less thaf
31

C Tbr%mn\ﬁ +o
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. {a)

Diagram not drawn to scale

Show, by calculation, that the triangle drawn above is a right-angled triangle.

mf»m mm +6l
— 100
e = _o

ks5.80. .
o %@09@5 o\.ﬁwﬁﬁmmmt

(b) Culculate the area of a semicircle with a radius of 20cm using 5t = 3-14.

O\ns Geea= TIX20%
= 34X 40
- Semi m:ﬁg 3m _Fxmoo

el

Page 31

1. This stairway is made with 6 cubes. It has 3 steps.

How many cubes would be needed to make a similar stairway with 9 steps?

b rwgmu =[+2+3 .,
& @ﬁb — _+M+m+.++m+m+q+,m+@

Page 32
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16. In the diagram, AB is parallel to DE.

(a) Show that triangles ABC and EDC are similar.

D

Diagram not drawn 1o scale.

(b) The lengths AB = 8cm, BC = 10cm and DC = 15¢m.
Calculate the length of DE.

nny_pzﬂ o T~ S I

(21

Page 35

16, (a) Explain clearly why triangles ABC and XYZ are similar,

c

Yem 15¢cm
6cm 10cm

18cm B X 12cm Y
Diagrams not drawn to scale.
18 - .5
I
1S =[.5
[2]
(b) Triangle POR, in which PQ = 15 cm, is similar to both triangles ABC and XYZ. Calculate
the length of OR.
R
o 15cm g
Diagram not drawn to scale.
FE 5
o, — 1«25
J S,
,,,,,,,,,,,, RO = 10X1.28 = [2.5 Con .
[2]
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2. (a) On the grid below, draw the enlargement of the given shape using a scale factor of 2

14. Triangles ABC and PQR are similar, with BAC = OPR, BCA = QRP, 4B = 5cm, AC=4cm, and centre O.
PR=6cmand RQ =12 cm.

S IS ,ii_ B3]

0

i

ﬁ
| |

1
f‘w |
a. ! \ (bj Describe fully the transformation that transforms triangle 4 into triangle B.
Diagrams not drawn to scale 3
<4
Showing all your working, find _
— a4l - \
(a) thelength of QP, _
3pe—d
|
2
1 _ —
-5 -4 -3 =2 -1 0 1 2 4 5 x
(b) the length of BC. W - - "
____________________ e Ly = . Ll
_____________ Ax amB = BCm . ‘
-3 i
Y - _
-5 -

Page 39 Page 40
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(b} Rotate the triangle shown through 90° clockwise about the origin.

. . « 2 * . + . .

. . < -3 . . . . .

« . - 4 . . . . -

. - . -5 . . N + .

B . - - - - 6 . . . B .
Page 43

(2

(e

Translate the triangle shown by 8 units to the left and 1 unit down.

Page 44
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19. The diagram shows two similar cylinders.

X _OO\R
.\\lw /I\\\x./

=
e_\ oy 25

A

Diagrams not drawn to scale.

The areas of the ends of the smaller and larger cylinders are 16 cm® and 100 em? respectively.

Given that the height of the larger cylinder is 12-5cm, find the height of the smaller cylinder.

Area o Ciccle Increased _meo -
T
Smaall Catle ¥ loo of oo,

Areadcals focky = /1o
Hdalefodor— [ 6/ioo = o

L .5 X o = L ASX Y
= O Lo

[3]

Page 47

17. A cone, with base of radius x cm and height h cm. has the same volume as a cuboid with
length x cm, width (x - 3) cm and height (x + 3) cm.

T s

Volomes Lot
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